CLV1 - LINKAGE KIT V ENGINES

M6x37 THREADED ADJUSTER

THROTTLE CABLE 1.5 METRES

M6 LOCKNUT

CABLE NIPPLE, 6MM CLAMP
HEX HEAD BZP

Lv41-2 M5x12.7 WASHER BZP

LINKAGE BALL JOINT
M5 THREADED BAR

CUT TO LENGTH 2 X FOR BALL JOINTS M5 LOCK NUT

M5 NYLOC NUT

LINKAGE BALL JOINT

M5 NYLOC NUT /

M5X200AZ
|
P8x@10x5.5 FLANGED BEARING
LINKAGE BUSH

| CUT AND DRILL MOUNTING

S BRACKET TO SUIT

&

CLV1-1

@8x@10x5.5 FLANGED BEARING

M5x12.7 WASHER BZP

M5 NYLOC NUT

A TURNTABLE STYLE LINKAGE TO USE IN THE CENTRE OF AV ENGINE

Engineered to win

TYPICAL V8 SETUP

MOUNTING BRACKET
CUT AND DRILLED TO SUIT

©
M5 ALLTHREAD
CUT TO LENGTH FOR APPLICATION =]
—
BRACKET FOR CABLE
ADJUSTER WILL NEED —
FABRICATING
©
©

Frame: lof1l

&3

Version: 1

Tel 01746 768810 © JENVEY DYNAMICS LTD. 2023

Web WWW.JENVEY.CO.UK




	Sheet1
	Drawing View2
	Drawing View3


